P77
ng If dmV<eo, an ordened basis foo. |/
s a basis f”'v-' tﬁc,-l-heq__ with @ Sfea‘ﬁ:: owley

Remaik: WWe Shal| enaaae n q,a'-‘w abuse of
hetation to describe an Grdered basis bar Aqr“"?-

—that B= {0} 5 an orclersd basis fry

i_x_: @SEE{ €. EI,"; en]' 5 CQ"CG’ "J‘e Afhudmi
ondeaed basie “EOL Fu

@ {12 xm} is called the Ahundasd reteas
basis o~ Pu(F).

® The twér srolered bass (3:7' an’,whm_
{3={9.,e;.e3}JT={e.,e,_eL}“ ane not

-the pame.
M: let B= [, o} be an &rdered bnf-‘rfﬁ..l/'

Fov o xe V, saa =2 @A we define

;'m@ B ()

Coopdimate. VECtoL. sﬁ X relatrre to ‘hllﬁ e1eden basis 63



é.: ’,gf 03={l,2'.2’l} be an Gudsed basis
Y- R(R). let foo=-7xFéx+4 then
[fipg= (2)

-7

P PE{?X@; L,?(z.} be qnothar ereleneof

bass  for B(R), ther

[
"7

Di: let B={ct.--om} bean Grdowed basis
for V and 03{:{(3!' ij an ordered basis

:fﬂl" W let Te L(V, W)__ +hen Tor each J‘, l.'".}‘:!'n
Taj s unjuely expressible ac o Le.

Tg:}h = Z:T A o p‘:‘
The mxn matx A= ( Af'j) is called +he
Matrix of T in the ordewd bases (B and '
and i denpted b? LT]!B'

Tp B¢’ e wnire lﬂf‘ - [Tlg



Homewerk: S0, 4ht i Uelt,w)
ﬂnJ oar‘. (P’
[U]‘3 [T]f +hen U=T. '
How to Gleculate [T]:
&3 let TEL(R®IR3) s

T(auqi) = (Q.+3Qh O, ‘24;-441 ."'..)
let B ard T be Hhe plandond sroottnad bases
‘Eh, R* auel IR® |t 72{83.9-:;6.}.

‘Fy«d_-t., {ind [T]@”‘ and [T]d;f’,
NSwep: [T1 = (b3 Y= (E
Frsuen: (mif= (1), (rig ¢)

Thm2.7 let T,UeL(V.W)_ V. W ane vecte,
SPq(_gs oven a ﬂ-‘eld F
@) nef = aTrU €L vw)

O (Law),F + ) 6 o Vectsy space_.

(T—F(_/T){x} = 1) +Ux)
(aT) (x) = aTex).



Notation: £ (v.w) 2 Liv.w )
Lv)EE L)

PE3
Thm 7.3' Lei' P"{u""»u"} and 7 = [Wh-n.. Wi }
be ozl base, fo\. V and W Mfwdr'vc{
let T.UeL(v.w) Then

@ [T+U]F'r= [T]F".,,[U] r ond.
@ [qT]r—.‘: r
P a lTJF

( Sketch
M ﬂ ;) Tc‘ﬁh T A
P @T)“j‘): Zr.—.: a-arwe

see

LE
g!_g_ Please " this eqmple by Yowself



	2-2-01.jpg
	2-2-02.jpg
	2-2-03.jpg
	2-2-04.jpg

